Parallelograms 2

Find the measure of each angle.
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Find the perimeter of each parallelogram.
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Find the length of the sides of each parallelogram.

13) P=115cm

14) P=316yds

115+2=575

316 =2 =156
57.5-43 =145

156-44=114

17) P=78 3/4 mi 18) P=2165/8 cm

25 23/48 cm

B
26 1/8 m
%13 1/4 m> 82 5/6lcm 82|5/6 cm 5

B 261/8mi X

S
25 23/48 cm

783/4+2=393/8
393/8-261/8=131/4

15) P=67m

19) P=176yds

16) P=269.2 in

W 5.9mp 81.11in P
§in 53.4in
27 6m 81 1 11’1 T
H 59m R 269.2+2=134.6
67 +~2=335 134.6 - 53.5=81.1
33.5-27.6=5.9

20) P=582 km
S 185 km R
4d + 14 106 km
9d - 22

A 185 km 0

4d+14+9d-22=582+2
13d -8 =291
+8 +8
13d =291
13 13
d=23

4d + 14 =4(23) + 14 = 106 km
9d - 22 =9(23) - 22 = 185 km
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